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02 Z==234l 185,400 132,600 22,800
OJtz(Eehs ®#iles 155,400
—sEIIH2S MRS 1,650& *3,000S 120 & 59,400
—ANIHKS HIIR= 8,000& +1,000&*120H & 96,000
206 M=l 37,500 37,500 0
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T t2te ]
D JIRE U MEOY BE(SDENLY
lE2s € ISl =24 (chel: &3
SN EHE - S(BH) - MM - BLS sl e RS2

01 M=H| 37,500 37,500 0
Oltzsal & 7Y 37,500
—sEJIES g1 25,000& *700H 17,500
—AJHXIDIZ2S &2 25,000 *300H 7,500
—AJHXIOtZ2S otF 25,000 *300H 7,500
—l2ste 88+ 25,000& x4 Z 504 5,000

401 Al&HI YL S04 101,728 129,081 A27,353

01 Al&H| 101,000 128,145 A2T7,145
OJtzs=AZel 101,000
—sEIIHE2S 7A2e 15,000& *2, 00070 2 30,000
— NS K2 40,000% =1, 0004 2= 40,000
—FUREX 2SS & 700,000 *3004 2 21,000
— A2 AKX 500,000 *2004 2 10,000

03 AIZR0i4l 728 936 A 208
OblollZ =& S 101,000, 000& *0.72% 728

12021 JIsl 2¢€ 21,710 27,060 25,350

201 Lere gl 2,040 2,040 0

01 AtR 22l 2,040 2,040 0
O108ld71stl &2 100, 0003 «3H 23] 600
O1203d1el |X22 120,000 « 1200 & 1,440

202 (4Hl 4,200 4,200 0

01 2L 4,200 4,200 0
O12081 A7 =0 4| 20,0003 x3H +70 4,200

206 X2 H| 7,400 7,400 0
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A TH2e| ot
HE: Jl2S U MEOIR O(BDIAUE /LTI - 21)
g JliE2s € ISl 24 (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
01 M=H| 7,400 7,400 0
Ol120=sSMas U7 10,000& *5&+100H 5,000
AXBEAE SZEHUI 200,000 12CH 2,400
301 EtE2N = 420 420 0
10 HALAHIZ &3 420 420 0
O120K 2 S At S K& 7,000& 15 *43] 420
405 AHeHESHI 7,650 13,000 5,350
01 T =S FH SHI 7,650 13,000 25,350
OISt 572+ 50,0003 x5&*23| 500
OydXRREE 25 7Y 650,000 *1&+ 110 7,150
9D HRE 2 SS(FEXXNINLY/TE) 7,479,883 6,478,814 1,001,069
= 3,682,211
& 1,125,000
i 2,672,672
ot& el 1,256,302 3,003,780 N1, T47,478
& 775,000
7 = 481,302
Ol=8X 24 100,000 100,000 0
401 Al&HI LR OHYI 100,000 100,000 0
01 Al&HI 99,108 99,108 0
Oll=EX 24 99,108
—ZFactEe 162X 99,108,000 » 14! 99,108
03 AIZ 204l 892 892 0
Otl=sX 24 892
—ZdFactE 162X 99, 108,000& *0.90% 892
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S 2]t
HH: o) WRE 2 B2(=

HM
He
!
J2
=
n
~
4
b
{0

chel: shE el EER-E
SA - H O (BH) - MBEAY - B2 Of) & 04 &%Ei Hn=2

ol & A HIAFS 756,301 603,780 152,521
= 575,000
- 181,301

401 AIEHIZ 20| 756,301 603,780 152,521
& 575,000
o 181,301

01 Al&H] 748,928 600,000 148,928
OZHIEZ AL 748,928
—Otol ™ SIA A H|AFY (L=0.88km) 600,000, 0003 * 14! 600,000
= 500,000
o 100,000
—=2 8 A& HHIAFY (L=0.45km) 148,928,000 * 1Al 148,928
& 75,000
o 73,928

03 Al =20Hb| 7,373 3,780 3,593
OEHIBEXAIE 7,373
—QOIo| & SFE HHIAIY 1,000,000, 000& *0.63% 6,300
—S&AME HUIALY 148,928, 000& *0.72% 1,073

ot& 2 Xl 22| A 400,001 600,000 199,999
== 200,000
- 200,001

401 AIEHIZ 20| 400,001 600, 000 A 199,999
= 200,000
= 200,001

01 Al&H| 396,244 596,244 A 200,000
OEHIEEZAIE 396,244
— oA S X2t 2| AFS (L=255km) 396,244,000 * 1A 396,244
& 200,000
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SN

X ZH
o=

el

THet2te] ot
2D R 2 B2(=

ot 2kl

HM
He
!
J2
=
n
~
4
-
{0

i
40
]
{0

SN BB SR(S) - MRAY - BES arol e s

= 196,244

03 AIE=20bl 3,757 3,756 1
OSHIEZ ALY 3,757
— ot & Xl 22l Avg (L=255km) 596,244 ,000& *0.63% 3,757

GF& TH ol Oif 2 AHEY 3,160,000 0 3,160,000
=2 2,200,000
= 330,000
= 630,000

StEEEAY 1,600,000 0 1,600,000
= 1,200,000
= 400,000

401 Al&HI YR OHYI 1,600,000 0 1,600,000
= 1,200,000
= 400,000

01 Al&H| 1,594,240 0 1,594,240
O=HIE= At 1,594,240
—N=d, X*E otEEL MY 1,594,240,000& * 14 1,594,240
= 1,200,000
i 394,240

03 Al£=R0iHl 5,760 0 5,760
OZHIEZ ALY 5,760
—J|EtZ I 1,600,000, 000%0.36% 5,760

EHOtA X &AL 1,560,000 0 1,560,000
= 1,000,000
& 330,000
= 230,000

401 A EHIL 201 1,560,000 0 1,560,000
= 1,000,000
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S 2]t
M 90 RRE 2 SS(FEXXIANL/=XL)

Etl 0 o & XH o Ol 2 AH (chel: &
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
& 330,000
= 230,000
01 Al&H| 1,554,384 0 1,554,384
OZHIEXZ ALY 1,554,384
— U MENSIA T A ALY (L=5.0km) 1,554,384,0003 * 14 1,554,384
= 1,000,000
= 330,000
= 224,384
03 AIZ R0l 5,616 0 5,616
OZHIEZ ALY 5,616
— S MENSIA T M ALY (L=5.0km) 1,560,000,000& *0. 36% 5,616
=& 2 3,014,466 3,425,982 A411,516
= 1,482,211
= 1,532,255
20t SAZel A 210,914 189,997 50,917
101 14| 9,114 9,052 62
04 JIZtMIZ2XSE =+ 9,114 9,052 62
OotdEYEX B4HR ¥ SIEX 9,114
-l 33,000% 1 »200 6,600
I PNECR=Y 33,0003 »1H 48 1,584
—BEI(4UEE) 930, 000& 930
401 Al&HI LR HYI 201,800 150,945 50,855
01 Al&H| 200,000 150,000 50,000
OAGHE A2l At (L=258km) 100,000, 000& * 14 100,000
OAotd ELAMG(FIAAGHES 260H4) 100,000,000 * 14! 100,000
03 AIZ=20i4l 1,800 945 855




T2l
U0 MRS 2 SS(ZELXSMNL/>TE)
=& 2 CHel: & 2
- _ _ XN -
SN BB SR(S) - MRAY - BES skl e s
O2ot& 2 Xl 22l Ar (L=258km) 100,000, 000& *0.90% 900
OLGHEELE ALY 100,000, 000& *0.90% 900
2 GHE TH ol Ofl 28 AL 10,000 450,000 A 440,000
201 Let2IH| 10,000 0 10,000
01 AtE222/Hl 10,000 0 10,000
OLHFX S22 MA(2EHS) 2,500 *2,0000H 5,000
Ogtedd=MAd 3 2Z3HI 5,000, 000& * 14 5,000
20otd FEHIALY 2,364,550 2,815,985 A451,435
= 1,182,211
= 1,182,339
401 Al&HI LR OHYI 2,364,550 2,815,985 A451,435
= 1,182,211
= 1,182,339
01 Al&H| 2,349,514 2,805,214 A 455,700
OZHIEZ ALY 2,349,514
—=¥ A ZHIAFE (L=0.3km) 780,084, 4623 14! 780,085
2 392,437
= 387,648
— AL Aot & B AFS (L=0.2km) 258,254,567 & 14l 258,255
= 130,058
= 128,197
—SH 1A oHEZ ALY (L=0.5km) 765,179,370 14! 765,180
= 385,000
= 380,180
— S oA SR H B ARG (L=0.6km) 545,993,243& x 14! 545,994
= 274,716
= 271,278
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ar =

m.lﬂ o >+
o 1) T
N

o
&

Rst 2 SS(RELXNIMNL /=)
2tel

i

0
F
10

SN - HE - SI(E) - NRAY - BAS & oy e =2
03 AIZ20i4l 15,036 10,771 4,265
O=HIE= At 15,036
— S A EHIALY 780,084, 4623 *0.63% 4,915
—JLHAGHE EYI ALY 258,254,567 3 *0.72% 1,860
—CH1AGHAEHIALSY 765,179,370& *0.63% 4,821
— SAAGHE EHIAY 545,993,243 0.63% 3,440
MEGIE SALLY 429,002 0 429,002
2 300,000
i 129,002
401 Al&HI YL S OHYI 429,002 0 429,002
= 300,000
i 129,002
01 Al&HI 425,935 0 425,935
O=HIE At 425,935
— SISO MEN S AL (L=1.3kn) 425,935
NE=1:1 425,935,000& * 14! 425,935
= 300,000
i 125,935
03 Al =R0idl 3,067 0 3,067
OstS Aot A ME =2 ALY (L=1.3km) 425,935,000 *0.72% 3,067
22| 49,115 49,052 63
& 20,000
i 29,115
X5t42el Al 9,114 0 9,114
101 el 24l 9,114 0 9,114
04 JIZHMIZ2XEE =+ 9,114 0 9,114
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DN =S =i

DD RRE 2 SS(FELANANY/=RE)

© XNlot==2tel

[
0
e
10

- _ _ NUE &
SN BB R (3IH) Hy= arey i BB
OXIGtaZAl Mitglel o geex 9,114
— Q12| 33,0009 *1Z+200 6,600
—FERay 33,0008 + 1% *48 1,584
—4ny 2 930,000 930
Xote KBl A 40,001 49,052 19,051
= 20,000
= 20,001
401 AlEHIL 2O 40,001 40,000 1
= 20,000
= 20,001
01 Al&bl 39,573 39,573 0
OZHI 2 EAHY 39,573
—XIste Xz 39,573,000 *14! 39,573
= 20,000
= 19,573
03 Al& =i 428 427 1
OTHI B E A 428
—XIgte XL 39,573,0002! *1.08% 428
S S Al (M2l ) (OIEH/IIEH) 71,840 72,335 A 495
clegy 4,200 4,200 0
olz e | 4,200 4,200 0
203 YRFAY| 4,200 4,200 0
04 SNSYYRET| 4,200 4,200 0
ORMeIYLETY| 350, 0002 * 1274 2 4,200
=Rl 67,640 68,135 N495
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SN

X XH: 5
o= -

|

F)(OIEFH/DIEH)

cHel | CHl: & 2
_ bolEN= -
- SRA(SAH) - MRAY - Ak oK 07|/§°ﬁ” S
=2 67,640 68,135 A495
201 Lsr2y| 36,200 35,495 705
01 At 22l 36,200 35,495 705
ORA N 1,940, 0008 * 162 31,040
O=2njAlb] 7, 0002 * 1624 x30L 3,360
oYxtz 1,800
—Ea=AD) 150,0002 * 1204 & 1,800
202 O7H| 31,440 32,640 A 1,200
01 2o 31,440 32,640 A 1,200
OZf il 100, 0002 162 ¥ 1204 & 19,200
O+l 01| 85,0002 * 16+ 12,240
WRES (M) (Z2E - plgre) 67,975 61,342 6,633
Ve 67,975 61,342 6,633
2HES (M2 67,975 61,342 6,633
702 JI2EE2 67,975 61,342 6,633
01 JI2HE2 67,975 61,342 6,633
OZ2EHM % 6,797,473,0002! x1/100 67,975
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